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ACCOUNTANCY

AEIA

Time allowed : 3 hours Maximum Marks : 80

ferfRa a3 gue Siferpas & : 80

General Instructions :
()] This question paper contains three parts A, B and C.
(i) Part A iscompulsoryfor all candidates.
(i)  Candidates can attempt ontne part of the remaining parts B and C.
(iv)  All parts of the questions should be attempted at one place.

a5
() T8 9797 Ti7 970 F Ay & — &, @ S T
() 9T & Tt o=t # oo S 2
(i) 97 9T G SR TH T PIT CF YFT &T HA
(iv) fdl 997 & T 970 & S97 % & ©9 W fafgw

PART - A
(Accountancy)
MM &

(rEmTre)

1. On 1.3.2005 Sen Ltd. converted 900, 6% Debentures of Rs. 100 each into 7% Preference
shares of Rs. 100 each. The Preference shares were issued at a discount of 10%.

Pass necessary journal entries in the books of the company. 2



1.3.2005 & a9 foT. 9 9% 100 5. AT 900, 6% FOTYSN HI, YA 100 5. atd 7%
qaiteeR Sl § uRafdd fokar | qaffeer e @ 10% % 9g ® it fear )

FHAT BN gEIR § UM H AE9dSH grafeedr Hifg |

G.M. Ltd. did not receive the first call on 2,700 Equity shares @ Rs. 3 per share which was
due on 1.1.2005. This amount was received on 1.2.2005.

Open calls in arrears account and record the above transactions in the book of the
company on 1.1.2005 and 1.2.2005. 2

STud. fo. &0 1.1.2005 &l < U9 IJrE-T AT 3 6. G 39T &0 & F 2,700 THAT FAq

W YT el &S | g WA 1.2.2005 RN I & |

FHET IrEAT A GTAT @R S [T TT A9eH] dl 1.1.2005 TAT 1.2.2005 i AT

T yfafteat it |

Vinod Ltd. issued 1,000, 7% Debentures of Rs. 1,000 each at a discount of 5%. Pass

necessary journal entries for the issue of Debentures in the following cases :
() When the Debentures were redeemable at par.
() When the Debentures were redeemable at a premium of 6%. 2

foeie f. 9 9% 1,000 €. A/ 1,000, 7% FOTGA & A 5% & dg WX fRar ) e
Rafoal & Fomws & R & fT w6 qEal § USEr Hosagaes gidtedt
HINT

() S FOOT T G SN B |

(i) T FOUT 6% b AT I M & |

State any four essential features of partnership. 2
RN ® HE IR AEAH [Iuad qq=y |

List any three points of distinction between fixed charge and floating charge Debentures. 3
TRl A (A1) qor qRadasiia ey (A) o= 9 o & &3 dF o gues
HITT |

A, B and C are partners in a firm sharing profits in the ratio of 2 : 2 : 1. C is guaranteed
a minimum amount of Rs. 10.000 as his share of profit every year. Deficiency if any, on
that account shall be borne by B. The profits for two years ending 31.3.2003 and
31.3.2004 were Rs. 50,000 and Rs. 60,000 respectively.

Prepare the Profit and Loss Appropriation Account for two years. 3
A, T T T UH ®H & AR & A A9 I GER0r 2 0 2 1 1 H FAUA H B ¢ |

q & 10,000 & Y I FAAH AT B TR & TE T TEA fREl off FA @,

gfc P &, T a8 HAM| 31.3.2003 TAT 31.3.2004 HI THIG &I & qUI P ATH FHA:

50,000 &. TAT 60,000 &. T |

a7 qut & arv-ei e | s R




10.

On 1.4.2000 J Ltd. issued Rs. 2,00,000 8% Debentures at a discount of 3%.

Debentures were redeemable as under :
Rs. 80,000 on 31.3.2002
Rs. 40,000 on 31.3.2003
Remaining on 31.3.2004

Prepare ‘Discount on Issue of Debentures Account’. Show your calculations also.

1.4.2000 &7 . feT. 9 2,00,000 . & 8% FOUAT HT HHA 3% & d¢ U fohaT | FOTa= &
Qe T YR § AT o7 ¢

80,000 . 31.3.2002 I

40,000 . 31.3.2003 &l

T 31.3.2004

‘Foros fEs 937 @@ar S8 | 9T O 9T E9IET |

On 31.3.2004 W Ltd. had the following balances in its books :
9% Debentures Rs. 6,00,000
Debenture Redemption Reserve Rs. 2,00,000

The

On that date the company decided to transfer Rs. 1,00,000 to Debenture Redemption

Reserve and redeemed Rs. 3,00,000 worth of Debentures.

Pass necessary journal entries in the books of the company.

31.3.2004 I T fol. &1 geaahl H 01 99 &
9% FOTYT 6,00,000 F.
FOTIS SN T 2,00,000 5.

IURIE AT & &P =T S SEOTT Qe B9 § 1,00,000 &, RIFTART hd &1 917 fom qen
3,00,000 &. & FOTYAT P LT HY &AT |

FHAT BN gEIR § UM H AEgdSh grareedr Hifg |

Explain briefly the meaning of ‘over-subscription’ and ‘under-subscription’.

rfer-arfie T ‘Srea-eifie & o W GeT ¥ gUsE’ |

Give necessary journal entries in each of the following alternative cases :
() Expenses of realisation amounted Rs. 7,400.

() Expenses of realisation Rs. 7,400 were paid by Ravi, a partner.



11.

12.

(i) Realisation expenses were to be borne by Deepak, a partner, for which he was allowed
a commission of 2% of net cash realised from dissolution. The net cash realised from
dissolution was Rs. 1,00,000 and actual realisation expenses were
Rs. 7,400.

(v) Expenses of realisation Rs. 7,400 were to be borne by Khan, a partner. Khan used
firm’s cash for paying these expenses.

a e et defcae aRRafeEl & g d9me 9 sasasw gfaftedt s
() =T @ 7,400 B. &)
(i) AT @ 7,400 F. H YIAH Uk GHER, JT 7 fRAT

(i) =ge @Al H TBT UH AEER, dub F foar, 6 U o9 fTEedT ¥ age I8
THS &1 2% HHIYE 37 aT| fEed & Il & RS 1,00,000 &. off qar
JrETaes Al @9 7,400 . |

(V) T @ 7,400 %., UH AEER, @H & 964 & I | @F 7 T @l B g
®H  H TRal R

What is meant by reconstitution of partnership ? List the occasions on which a
partnership is reconstituted. 4
qreErd & Yo w1 @ 3 B 7 S AaEd bl qqr3y J9 FiHErd wl Hied el

g

A, B and C were partners in a firm sharing profits in the ratio of 5: 3 : 2. On 1.4.2005
they admitted D as a new partner for I/8th share in the profits of the firm. The new
profit sharing ratio of A, B, C and D willbe 3:2:2: 1. On D’s admission the goodwill
of the firm was valued at Rs. 2,40,000. D brought in cash Rs. 1,75,000 for his share of
capital. He also brought necessary cash as premium for his share of goodwill.

Calculate sacrifice/gain of A, B and C on D’s admission. Also pass necessary journal
entries for the above transactions in the books of the firm. Show your calculations

Clearly. 6
A, T JA T UH ®H H AEER I TAT 5:3:2 H AU H @ dled | 1.4.2005

B I T Bl AH B 1/89 FY H [T TH U GEER b & H yAq fG@m oo, 9,

q T BT FAT ATH-HSWST ST 3 : 2 2 2 ¢ 1 BEOT| & & JAT W GH Hl G

F THAIHT 2,40,000 &. fhaT T T 1,75,000 &. e T Yol & fog @m@m| a8
W & &0 | @fd & U 39T & [T 9t Straasd Ak @ |

T % JAY W S, F qAT § & ARV/ATH &l 0T BT | BF Bl J&iehl d IWIEH el

H AT § s gfafteat O wiforT | STust TS B e ey |




13. X and Y were partners in a firm sharing profits and losses equally. On 1.3.2005 their
Balance Sheet stood as follows :

Liabilities Amount | Assets Amount
Rs. Rs.
Accounts Payable 30,200 Cash 3,200
General Reserve 6,000 Stock 8,000
Capital Accounts : Accounts Receivable 10,050
X 15,000 Goodwill 31,300
Y 15,000 30,0000ffice Equipment 1,850
Building 11,750
66,200 66,200

On the above date the firm was dissolved. X took over stock at 10% less and Y took
over Accounts Receivable at 6% less. Office Equipment realized Rs. 900 and Building

realized Rs. 50,000. Accounts Payable were paid at a discount of 5%. Expenses of
realisation Rs. 800 were paid by X.

Prepare Realisation Account, Capital Accounts and Cash Account, to close the books of
the firm. 6

OR

P, Q and R commenced business on January 01, 2002 with capitals of :
P Rs. 40,000
Q Rs. 30,000
R Rs. 30,000

Profits are shared in the ratio of 4 : 3 : 3. Capital carried interest @ 5% per annum. During
the year 2002, the firm suffered a loss of Rs. 40,000 before allowing interest on capital.
Drawings of each partner during the year were Rs. 3,000.

On December 31st, 2002, the partners agreed to disslove the firm as it was no longer
profitable. The creditors on that date were Rs.10,000. The assets realised a net value of
Rs. 60,000 and the expenses of realisation were Rs. 1,000.

Prepare Realisation Account, Partners' Capital Accounts and Cash Account along with
necessary working to close the books of the firm.



U QAT a1 Ush ®H § GTeer O S @T9-8l &l ey | dfed 91 1.3.2005 &I ITHT
feafa foeror /91 9 & ot ¢

CERIY qiyr | FeatEt EUE
. .
T @ 30,200 | ThH3 3,250
I S ) 6,000 | Tfdh 8,000
ECIRCI T @ 10,050
TR 15,000 (2| 31,300
GIE} 15,000 30,000 | AT I 1,850
- 11,750
66,200 66,200

SuUeR fafer @ wH T faged B T e 9 ' 10% # g W o foar qer a
T U @MW 6% 98 W o 0| dE@@ I3 § 900 &, qAT WaT F 50,000 5. I
B @Ml W AN 5% % d¢ W R T el @d 800 B, H YIAH TR
EREZI

T H JEh a5 B od agal @, o @rd Jgr dhs @il a4Ey |

gt
9t, R AT AR 7 T 01, 2002 BT Faigd Goil § AR YR 6T -

qr 40,000 5.
F 30,000 %.
M 30,000 5.

A H IO 4 2 3 0 3 % W H fRAT AT ¥ OO W 5% a1 @ @ @
foar Smar &1 g 2002 § ®F H 40,000 F. H FE g A B N W A T B
9 ff | 99 & IR Y&H AEER & ST 3,000 &, |

31.12.2002 I, FIfh Faad AT H AHEN B H A H T o, AEHER 4 6
B TE FB B AU fEET I8 A WER 10,000 € % ) gkl 9 Faa q@
60,000 5. THA BT TAT THAT AT 1,000 B. & |

T H JER B I B H [0 aGA @i, qQEER & Yol @ qer A6s @rdr
AEgds Gihar feEdd g7 aa1Ey |




14. L.X.L. Ltd. invited applications for 18,000 Equity shares of Rs. 10 each issued at a discount
of 10%. The amount was payable as follows :

On Application — Rs. 4 per share
On Allotment — Balance after discount

Applications for 27,000 shares were received and pro-rata allotment was made to all
applicants. Excess money received on application was adjusted towards sums due on allotment.
Jeetu to whom 900 shares were allotted failed to pay the allotment money. His shares were
forfeited. The forfeited shares were re-issued at Rs. 8 per share as fully paid up.

Pass necessary journal entries in the books of L.X.L. Ltd.
UA. TH. U@ [, 5 9% 10 &. a%d 18,000 FAAT AT & MR & e s fo |
ST @1 O 10% T g2 W B °r )| iy v geR § 37 o

AT W — 4 & Yfd A

HAEA W — 99 (G & W)
27,000 39 &% [T e U gU qer @l SRl Sl SAUTae AU W AT H
f&ar | e WUt SAfaRes Wi w1 GEEeE oded W iy ¥ # fomn
AT | ST T 900 S T STEe fohaT AT AT | SATEe AT T YA | (T | fiae
Ry H AW TE B W IS AN B Fed wY fa@r MW Feq T ww st
8 5. URT T A W H YOl yed w9 § g FitHa @Y fear

Ud. TR Ud. . &0 Q&ehl & IoEd 3 asad giaftedr s |

15. M, N and O are partners in a firm sharing profits in the ratio of 3: 2 : 1. On 31.3.2004
N retired from the firm. On that date the Balance Sheet of the firm was as follows :

Liabilities Amount | Assets Amount
Rs. Rs.
Sundry Creditors 27,000 | Bank 27,000
Bills Payable 12,000 | Debtors 6,000
Outstanding Salary 8,200 | Less Provision
for Bad Debts 400 5,600
Capital Accounts : Stock - 9,000
M 46,000 Furniture 41,000
N 30,000 Building 60,000
O 20,000 96,000
1,43,200 1,43,200

N retired on the following conditions :

() Building will be appreciated by 10%. Stock will be depreciated by Rs. 1,000.

Furniture was to be brought upto Rs. 45,000.



() Goodwill of the firm was valued at Rs. 42,000 and N’s share was to be adjusted
without opening goodwill account.

(i) N was to be paid Rs. 26,000 in cash immediately and the balance was to be
transferred to his loan account.

(v) The new profit sharing ratio between M and O will be 3 : 2.
Prepare Revaluation Account, Partners’ Capital Accounts and Balance Sheet of the
new firm. 8

OR

A and B were partners in a firm sharing profits equally. The Balance Sheet of the firm
as on 31.3.2004 was as follows :

Liabilities Amount | Assets Amount
Rs. Rs.
Creditors 14,000| Cash 12,000
Bills Payable 4,000 | Debtors 8,000
Capital Accounts : Less : Provision
for Bad Debts ~ 500 7,50(
A 41,000 Stock 10,000
B 41,000 82,000 Mschinery 25,000
Building 45,000
1,00,000 1,00,000

On the above date they admitted C as a new partner in the firm for 1/3 share in the
profits on the following terms :

() Goodwill of the firm was valued at Rs. 12,000. C brought Rs. 41,000 for his capital
and the necessary amount of cash as premium for his share of goodwill.

() Building was to be valued at Rs. 50,000 and Machinery at Rs. 22,000.
(i) Provision for bad debts was to be maintained at 5% of debtors.

Prepare Revaluation Account, Partners’ Capital Accounts and the Balance Sheet of the
new firm.



T, U9 qAT 3 Uk BH b AECR & ol 3 : 2 ¢

1 % SIU # A9 afed €1 31.3.2004

BT B G EmY W= R 3w oty & vt ar fafy faewer e ogew ar

ER LIy T LA IER] T
5. 5.
fafe WMer 27,000 | 9% 1,00,000
T fa@ 12,000 | &R 6,000
fed Ao 8,200 | T TIG FOU & forg
PIEIET 400 5,600
S @ e 9,000
Tq 46,000 T 41,000
TT 30,000 0T 60,000
3T 20,000 96,000
1,43,000 1,43,200

o = gt o STaeRIsr Teer fRar

() o &1 BT 10% d ARE AT | ©ih 1 o 1,000 &. FIH¥a fhar e |
EAER BT -l 45,000 . [T ST |

(i) W N AT B TADT 42,000 . HAT T FAT @AT H T H AT BN @IS
QT @i o qaEfoe e s

(i) TT BN 26,000 B. F THE YA I R AT AT qAT QT H IHD FOT @I
H TIMRT T &7 |

(v) TH qUT ST Rl AT AH-GEHS AT 3 ¢ 2 B
ITHI% @, |Eerl & Sl @ gl 95 ®H & Refq foearer a9Ey |

Sgar



16.

17.

T TAT T UFh BH H EER & S A BT fOaver E-aiEy w91 31.3.2004 H BH
1 Rafa faawor 79 g ¥ a1 ¢

ORI ufyr | geafaat RUEl
s. s.
e’ 14,000 | THS 12,000
T fa@ 4,000 | ER 8,000
it @ T2l Tad FON & oI grEaems 500 7,500
3 41,000 ik 10,000
T 41,000 82,000 | HEM=TT 25,000
T 45,000
1,00,000 1,00,000

IR fafer & SR @ § 1/3 39T &% 0§ B UH U AERR & ®9 § BH § e

It W gder &

() wH & =T H e 12,000 . fHar @ |/ SO IS &% W 41,000 &, @w@T
TAT U SFY B @G & T AT & 0 § Edd €9 The ara |

(i) T HT F—THA 50,000 &, TAT AL BT TR 22,000 F. fohar T |
(i) IIT *FOM & [T YL &R & 5% & SO @ o7 |
T @, |ieerl & Sl @ g1 95 ®H & Ref foearer s=En |

PART B
(Analysis of Financial Statements)
T 9
(R faawoit =1 fasdwon)

State whether the following transactions will result into inflow, outflow or no flow of
funds : 2
() Paid to creditors Rs. 50,000 in cash.

() Depreciation charged on Building Rs. 75,000.

(i) Issued Rs. 3,00,000% Debentures for cash.

(v) Paid Rs. 3,50,000 for machinery purchased.

garzu fh fefafad d9eal & ®I &1 S YaTs, STl YdE ST hiE YA Sel enm
() R I 50,000 &. I Tha YA {HAT |

() a9 W 75,000 &. TR AT T |

(i) 3,00,000 ®. & 9% FOUSAT BT dhg &q H ET fRAT T

(v) A % & fT 3,50,000 . T PO foRa |

List any two points of distinction between a Balance Sheet and a Funds Flow Statement.

Rarf feror dar FI9 gaE e # =R & @i & [O9g qaRu |

10



18.

19.

20.

Briefly explain the objectives of analysis of financial statements.

forirar foarott &1 fageroor fo SEeai @ Ofa &ear & |ad § |q9sEg |

The Current Assets of a company are Rs. 6,60,000. Its current ratio is 3.00 and liquid
ratio is 1.15. Calculate the current assets, liquid assets and inventory.

UF O Bl A 2FA 6,60,000 B, F | ZHHBT AR AU 3.00 TAT AT U
1.15 & | A& A 9al, T Teal qar ©ih i T B |

On the basis of the information given below calculatetanyof the following ratios : 4
() Gross Profit Ratio

(i) Debt-Equity Ratio

(i) Working Capital Turnover Ratio

Information :
Rs.
Net sales 7,87,500
Cost of goods sold 3,95,600
Current liabilities 2,37,000
Loan 87,000
Current assets 3,99,000
Equity share capital 3,75,000
8% Debentures 1.25,000

(et gET & SMMeR W A feu v fh=l | erual @t IO IR -

() @ A S

(i) ForawEaT S

(il) il ol Smad STuTT

R

o.

J& fopa 7,87,500
I9 T AT B AR 3,95,600
EIGEEURIY 2,37,000
EAl 87,000
] gt 3,99,000
qHAT A Sl 3,75,000
8% FOIH 1,25,000

11



21. Following are the Balance Sheets of X.L. Ltd. as ctiNdarch 2003 and 31March

2004 :
Liabilities 2003 2004 | Assets 2003 2004
Rs. Rs. Rs. Rs.
Share Capital 12,08,000 15,87,00G500dwill 70,000 40,000
General Reserve | 1,00,000 1,25,000Building 10,00,000 15,00,000
Profit & Loss Alc 70,000  65,000anvestments 2,00,000 1,00,00d
Proposed Dividend 35,000  40,000Debtors 75,000 95,000
Creditors 21,000 18,000 Stock 77,000 73,000
Outstanding Rent 7,000 3,600 Cash 12,000 27,000
Preliminary Expenses 7,000 3,600
14,41,000 18,38,600 14,41,000 18,38,600

You are required to :

() Prepare Schedule of Changes in Working Capital.

(i)
(i)

The following balances appeared in Plant and Machinery Account and Accumulated

Prepare Funds Flow Statement.

Calculate Funds from Operations, and

OR

Depreciation Account in the books of P.S. Ltd. :

Balance as at 31.3.2003 31.3.200
Rs. Rs.

Plant and Machinery 39,99,990 47,47,770

Accumulated Depreciation 10,10,110 12,12,120

Additional Information :

During the year a piece of machinery costing Rs. 2,20,000 on which accumulated
depreciation was Rs. 1,04,000 was sold for Rs. 64,000.

You are required to :

Compute the amount of Plant and Machinery purchased, depreciation charged and
loss on sale of machinery.

State how shall each of the items related to Plant and Machinery be shown in the
Cash Flow Statement.

12



31 9T 2003 AT 2004 H I G for. & Rafq foewor f=w g & & -

gars 2003 2004 | FHAT 2003 2004

5. 5. 5. 5.
S IS 12,08,000 | 15,87,000 | TATIT 70,000 40,000
N |99 1,00,000 | 1,25,000 |9aT 10,00,000 | 15,00,000
AY-BI @rar 70,000 | 65,000 | fEST 2,00,000 | 1,00,000
gETad AT 35,000 | 40,000 |3TER 75,000 95,000
TTER 21,000 | 18,000 |TTh 77,000 73,000
e foman 7,000 3,600 | TS 12,000 27,000
TRiEvE  @d 7,000 3,600
14,41,000 | 18,38,600 14,41,000 | 18,38,600

JTE JTUferd :

(1) sl Ooit aRacs diferer a=msy,
(3) HE@T ¥ O B BT ST, Fe
(|) @Y gare faerer g=E |

Jgan
drug. fa. @ geel § S99 qar A @ qor |t qoeE @ § refated 9w
EEULR L
S 31.3.2003 31.3.2004
5. 5.
I qer wYEd 39,99,990 47,47,770
qfd s 10,10,110 12,12,120

ad & IR UH AW rEer g& 2,20,000 B o dur o w oGfid g @ iy
1,04,000 5. &, & 64,000 . ¥ 59 fear mm|

I 3T

() ad ¥ % fby MU G99 U AN A, T T e a9 [ # T
AT W B T TOMT IR |

(i) =arzuw Gax dgr 9efie ¥ geaftead yde ue Ues gare faamer § &9 a9

ST |

13




16.

17.

18.

19.

20.

21.

PART C

(Computerised Accounting)
W T

(s AEiEn)
What is meant by normalisation ?

GETART HT T 37T T 2

What is data redundancy ? What problems are associated with it ?

Y TRdear |1 T ¢ A9 gEud F-aT q9E 8 2

What do you understand by unary, binary relation ?

Thel, alel GE ¥ UHT T arad 8§ ?

Conceptualise the accounting reality in terms of Entity Relation Model concepts.

A@IHT AR B 23R, (U RAY) Aisd 9ROm & &9 § Gehiedd hiford |

Develop and depict an Entity Relationship Model for this accounting reality.

AGIh ATEdahdl & fau us .o, (ufeedt Ragafam) Az fowfaa wa fafEa

FHITT |

Show the database design in terms of relevant data tables and their inter-relationships.
3+t4 =7

ST W MR Afhed (feamed) & UERes STl &l aRvll & &9 § fe@su qar

C .
b STagTRel Bl IdEy |

14



Note : Q. 19 to 21 to be done with the help of the following vouchers :

Voucher 1
Voucher 0705 Date : May 07, 2004
Debit Account : 110001  Cash Account M/s. Macrowell
Credit Account
Sl. No. Code Name of A/c Amount (Rs.) Narration
1 120001 Furniture 7,500 Sale of Furniture
Authorised by Prepared by
Gopal Sarala
Voucher 2
Voucher 1105 Date : May 11, 2004
Credit Account : 110001  Cash Account M/s. Macrowell
Debit Account
Sl. No. Code Name of A/c Amount (Rs.) Narration
1 111111 Capital 12,500 Drawings
Authorised by Prepared by
Gopal Sarala

FPT: [T 19 @ 21 TF P TR [HEfaRGd OB B GEEFAT G G -

T 1
JHOT 0705 et : =€ 07, 2004
M @1 ¢ 110001 REEIRGIN]I g Hehlda
ST @Tr
wE | B e Fw A i (%) ey
1 120001 EHTEY 7,500 Frae ar fashr
rferpa ARt
TraTe AT
YA 2
9HITH 1105 feis : 9 11, 2004
STHT @rar ¢ 110001 LEEIRGIGIE J9d HhlaA
I @rr
HAH | ®S GG RN It} i3 (5.) e
1 111111 Ll 12,500 ST
stferpa et
T [Tl

15



